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GHXWVFKHQ�,QVWLWXWHQ�XQG�+RFKVFKXOHQ�GHU�3ODVPDIRU�
VFKXQJ�

:,5'�=85�80:$1'/81*�921�*$6�=8�3/$60$�
9,(/�(1(5*,(�%(1�7,*7"

'LH�3ODV*O$LU\p�EHQ¸WLJW�Z¦KUHQG�GHV�%HWULHEV�QXU�FD����
:DWW��XQG���:DWW�LP�6WDQGE\��%HL�HLQHU�6WXQGH�%HWULHE�GHU�
)LOWHUDQODJH�SUR�7DJ��NRVWHW�GLHV�LP�-DKU�QLFKW�PDO���(852�

:$580�%(1�7,*(�,&+�12&+�$.7,9.2+/("

'LH�$NWLYNRKOH�GLHQW�EHL�GHQ�3ODV*O$LU\p�8QLYHUVDO�8P�
OXIW�0RGXOHQ�QLFKW�DOV�6SHLFKHU��VRQGHUQ�DOV�.DWDO\VDWRU�
XQG�]XV¦W]OLFKH�5HDNWLRQVSODWWIRUP��=XV¦W]OLFK�ZLUG�GXUFK�
GLH�$NWLYNRKOH�GHU�UHVWOLFKH�DWRPDUH�6DXHUVWRII�DEJHEDXW��
%HL�QRUPDOHP�.RFKYHUKDOWHQ�VROOWH�GLH�$NWLYNRKOH�FD��QDFK�
��å���-DKUHQ�JHZHFKVHOW�ZHUGHQ�

'$6�)81.7,21635,1=,3

���)(67

���*$6)�50,*

���3/$60$

0(7$//���)(77),/7(5

3/$60$

&+(0,6&+(�5($.7,21(1

$.7,9.2+/(

6SDOWXQJ
GHU�
0ROHN¾OH

.RFKG¾QVWH *HUXFKVPROHN¾OH��
6SRUHQ��%DNWHULHQ��
9LUHQ��.HLPH�XVZ�

+�2 2�

2�+�2&[+\

2� &2� +�2


